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(6) You are given the circuit in the following diagram. Use nodal analysis to find Vy and 1. ,
Treat the 3 V source as as a super node. Ans: Vy=-02V, [=0.467 A..
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(7) You are given the circuit in the following diagram. Use nodal analysis to find V,. Ans: 19.64 V
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(8) You are given the circuit in the following diagram. Apply mesh analysis to find I, I, I; and [
Aps; I=1.186 A: Other currents on your own.
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(9) You are given the circuit in the following diagram. Use mesh analysis to find the current L.
Ans: I,=-1.733 A
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(10) You are given the circuit in the followmg diagram. Use mesh analysis to find the cu:rrent 1.
‘ Ans:I,=1.731 A
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